ACADEMIC YEAR 2024 - 2025 (Fall and Spring) **ALCORN STATE UNIVERSITY** HOUSING

DOUBLE OCCUPANCY

יירטוטרוייטרי	NOOM LIFE	FALL ZUZH	SPRING 2025
Village A	Standard	\$ 3,790.50	\$ 3,790.50
Village B	Standard	\$ 3,790.50	\$ 3,790.50
Village C	Standard	\$ 3,790.50	\$ 3,790.50
Village D	Standard	\$ 3,790.50	\$ 3,790.50
Revels Hall	Standard	\$ 2,808.50	\$ 2,808.50
Burrus Hall	Standard	\$ 2,808.50	\$ 2,808.50
Lott Hall	Standard	\$ 2,808.50	\$ 2,808.50
Robinson Hall	Standard	\$ 2,808.50	\$ 2,808.50
Honors Dorm	Standard	\$ 2,891.50	\$ 2,891.50
School of Nursing Dorm	Standard	\$ 2,891.50 \$	\$ 2,891.50

SINGLE OCCUPANCY

RESIDENCE HALL	ROOM TYPE		FALL 2024	SF	SPRING 2025
Village A	Standard	\$	4,127.50	❖	4,127.50
Village B	Standard	٠	4,127.50	\$	4,127.50
Village C	Standard	٠	4,127.50	\$	4,127.50
Village D	Standard	\$	4,127.50	\$	4,127.50
Revels Hall	Standard	\$	5,615.50	s	5,615.50
Burrus Hall	Standard	s	5,615.50	❖	5,615.50
Lott Hall	Standard	Ş	5,615.50	Ş	5,615.50
Robinson Hall	Standard	₹,	5,615.50	Ş	5,615.50
Honors Dorm	Standard	\$	5,782.50	\$	5,782.50

Approved: Well Subward
Interim Vice President of Finance and
Administrative Services/CFO

ALCORN STATE UNIVERSITY TUITION SHEET

ACADEMIC YEAR 2024 - 2025 (Fall, Spring and Summer)

		MISCELLANEOUS FEES	MISC		
	7			\$ 4,052.50	12
				\$ 3,714.81	11
				\$ 3,377.10	10
\$ 4,545.90	9	\$ 4,420.26	9	\$ 3,039.39	9
\$ 4,040.80	∞	\$ 3,929.12	8	\$ 2,701.68	∞
\$ 3,535.70	7	\$ 3,437.98	7	\$ 2,363.97	7
\$ 3,030.60	6	\$ 2,946.84	6	\$ 2,026.26	6
\$ 2,525.50	5	\$ 2,455.70	5	\$ 1,688.55	ъ
\$ 2,020.40	4	\$ 1,964.56	4	\$ 1,350.84	4
\$ 1,515.30	ω	\$ 1,473.42	ω	\$ 1,013.13	ω
\$ 1,010.20	2	\$ 982.28	2	\$ 675.42	2
\$ 505.10	1	\$ 491.14	1	\$ 337.71	Н
RESIDENT TUITION	Hours	RESIDENT TUITION	Hours	RESIDENT TUITION	Hours
RESIDENT & NON	No. of	RESIDENT & NON	No. of	RESIDENT & NON	No.of
PRACTICE		GRADUATE		UNDERGRADUATE	Š
DOCTORATE OF NURSING	росто				

Technology Fee Capital Improvement Fee Orientation Fee

> \$50/semester \$100.00

\$20/hour

Student Activity Fee **Graduation Fee**

International Fee \$50-\$100

\$50/semester \$600/semester

Fees are subject to change without notice

Approved:

Interim vice President of Finance and Administrative

Services/CFO

ALCORN STATE UNIVERSITY

ACADEMIC YEAR 2024 - 2025 (Fall and Spring) **Meal Plans**

Approved: Well Embur
Interim Vice President of Finance and Administrative Services/CFO

ALCORN STATE UNIVERSITY HOUSING SUMMER 2024

DOUBLE OCCUPANCY

RESIDENCE HALL	ROOM TYPE	BASE RATE	# of DAYS	IMUS	SUMMER 2024
Village A	Standard	\$ 32.68	\$ 82	\$	914.95
Village B	Standard	\$ 32.68	28	₩.	914.95
Village C	Standard	\$ 32.68	28	↔	914.95
Village D	Standard	\$ 32.68	28	↔	914.95
Revels Hall	Standard	\$ 24.21	28	↔	677.91
Burrus Hall	Standard	\$ 24.21	28	↔	677.91
Lott Hall	Standard	\$ 24.21	28	₩.	677.91
Robinson Hall	Standard	\$ 24.21	28	\$	677.91
Honors Dorm	Standard	\$ 24.93	28 \$	φ.	697.95
				- 1	

SINGLE OCCUPANCY

RESIDENCE HALL	ROOM TYPE		# of DAYS	NUS	SUMMER 2024
Village A	Standard	\$ 35.58	28	S	996.29
Village B	Standard	\$ 35.58	28	\$	996.29
Village C	Standard	\$ 35.58	28	\$	996.29
Village D	Standard	\$ 35.58	28	\$	996.29
Revels Hall	Standard	\$ 48.41	28	₹	1,355.47
Burrus Hall	Standard	\$ 48.41	28	\$	1,355.47
Lott Hall	Standard	\$ 48.41	28	\$	1,355.47
Robinson Hall	Standard	\$ 48.41	28	\$	1,355.47
Honors Dorm	Standard	\$ 49.85	28	\$	1,395.78

Approved: _

Interim Vice President of Finance and Administrative Services/CFO